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3ULVSHYHN�LPD�QDPHQ�RVYHWOLWL�YnGHQMH�$QJOR�$PHULßDQRY�R�REYHÈßHYDOQHPX�GHORYDQMX�2=1(�Y�-XOLMVNL�NUDMLQL�LQ
YHßMLK� LWDOLMDQVNLK�PHVWLK� RG� NRQFD� YRMQH� SD� GR� OHWD� ������ $YWRU� MH� DQDOL]LUDO� SURWLREYHÈßHYDOQH� SRGDWNH� DQJOR�
DPHULÈNLK� REYHÈßHYDOQR�YDUQRVWQLK� VOXÊE�� NDWHULK� SRGDWNH� GRELPR� Y� IRQGX� EULWDQVNHJD� YRMQHJD� PLQLVWUVWYD�� 1D�
WDQßQHMH�MH�SUHGVWDYOMHQR��NDNR�VR�GRMHOL�RUJDQL]DFLMR��GHMDYQRVW��FLOMH�LQ�YORJR�RVXPOMHQLK�SULSDGQLNRY�2=1(��NL�VR
GHORYDOL� Y� YHßMLK� LWDOLMDQVNLK�PHVWLK�� -XOLMVNL� NUDMLQL�� ÈH� SRVHEHM� SD� VH� SULVSHYHN� RVUHGRWRßL� QD� GHORYDQMH�2=1(� Y
7UVWX�� .OMXE� YHOLNHPX� ÈWHYLOX� LQIRUPDFLM� WHPHOML� YHßLQD� SRGDWNRY� QD� SRPDQMNOMLYL� REYHÈßHQRVWL� LQ� QDSDßQLK� SUHG�
VWDYDK�R�GHMDYQRVWL�2=1(��9SUDÈOMLYD�MH�YHURGRVWRMQRVW�SRGDWNRY�LQ�DQDOL]�WHU�KNUDWL�]DQLPLYD�]�YLGLND��NDNÈQR�VOLNR
VR� VL�$QJOR�$PHULßDQL�XVWYDULOL�R�DNWLYQRVWLK�2=1(��7L�RFHQMXMHMR��GD�QMHQH�DNWLYQRVWL�SUHGVWDYOMDMR� OH�PDQMÈH�SR�
WHQFLDOQH�JURÊQMH�]DYH]QLÈNL�YRMDÈNL�XSUDYL�QDG�-XOLMVNR�NUDMLQR�

.OMXÞQH�EHVHGH��REYHÊáHYDOQD�LQ�SURWLREYHÊáHYDOQD�GHMDYQRVW��2=1$��&,&��KODGQD�YRMQD��-XOLMVND�NUDMLQD
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/¢DUWLFROR�YXROH�IDU�OXFH�VXOOH�FRQRVFHQ]H�GHJOL�DQJOR�DPHULFDQL�VXOOH�DWWLYLWi�GL�LQWHOOLJHQFH�GHOO¢2=1$��2GGHOHN
]D�]DÈßLWR�QDURGD���'LYLVLRQH�SHU�OD�WXWHOD�GHO�SRSROR��QHOOD�9HQH]LD�*LXOLD�H�QHOOH�SULQFLSDOL�FLWWi�LWDOLDQH�GDOOD�ILQH
GHOOD�JXHUUD�ILQR�DO�������/¢DXWRUH�DQDOL]]D�L�GDWL�GL�FRQWURLQIRUPD]LRQH�GHL�VHUYL]L�LQIRUPDWLYL�H�GL�VLFXUH]]D�DQJOR�
DPHULFDQL��L�FXL�GDWL�VRQR�FRQVHUYDWL�SUHVVR�LO�0LQLVWHUR�GHOOD�JXHUUD�EULWDQQLFR��9LHQH�SUHVHQWDWR�LQ�GHWWDJOLR�LO�PRGR
LQ� FXL� YHQLYDQR�SHUFHSLWL� O¢RUJDQL]]D]LRQH�� OH� DWWLYLWi�� JOL� VFRSL� H� LO� UXROR� GHL� VRVSHWWL� DSSDUWHQHQWL� DOO¢2=1$� FKH
RSHUDYDQR� QHOOH� SULQFLSDOL� FLWWi� LWDOLDQH� H� QHOOD� 9HQH]LD� *LXOLD�� /¢DUWLFROR� VL� FRQFHQWUD� VRSUDWWXWWR� VXOOH� DWWLYLWi
GHOO¢2=1$�D�7ULHVWH��1RQRVWDQWH�LO�JUDQGH�QXPHUR�GL�LQIRUPD]LRQL��OD�PDJJLRU�SDUWH�GHL�GDWL�VL�EDVD�VX�GRFXPHQWL
LQFRPSOHWL�H�FRQFH]LRQL�HUUDWH�VXOO¢DWWLYLWi�GHOO¢2=1$��/D�YHULGLFLWi�GHL�GDWL�H�GHOOH�DQDOLVL�o�GXEELD�H�DO�FRQWHPSR
LQWHUHVVDQWH�LQ�TXDQWR�FL�PRVWUD�TXDOH�LGHD�VL�HUDQR�IDWWL�JOL�DQJOR�DPHULFDQL�GHOOH�DWWLYLWi�GHOO¢2=1$��4XHVWL��LQIDWWL�
SHQVDYDQR�FKH�OH�DWWLYLWi�GHOOD�'LYLVLRQH�UDSSUHVHQWDVVHUR�PLQDFFH�SRWHQ]LDOL�GL�VFDOD�PLQRUH�SHU�O¢DPPLQLVWUD]LRQH
PLOLWDUH�GHJOL�$OOHDWL�QHOOD�9HQH]LD�*LXOLD�

3DUROH�FKLDYH��DWWLYLWj�GL�LQIRUPD]LRQH�H�FRQWURLQIRUPD]LRQH��2=1$��&,&��JXHUUD�IUHGGD��9HQH]LD�*LXOLD
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2EYHÊáHYDOQD�GHMDYQRVW� VRGL�PHG�QDMVWDUHMÊH�GHMDY�
QRVWL�� V� NDWHULPL� VH� MH� áORYHN� XNYDUMDO�� LQ� VLFHU� ]DUDGL
VSHFLILNH� VYRMHJD�GHOD��NL� ÊLUÊL� MDYQRVWL�QLNROL�QL�ELOD�SR�
YVHP�SR]QDQD��*ODYQD�]QDáLOQRVW�GHORYDQMD�REYHÊáHYDO�
QR�YDUQRVWQLK� VOXÌE� MH� Y� WDMQRVWL� QMLKRYHJD� GHOD�� NL� VH
NDÌH�Y�QDáLQX�SULGRELYDQMD�SUDYLORPD�WDMQLK�SRGDWNRY��NL
MDYQRVWL�QLVR�QD�YROMR�

7DND� VSHFLILND� GHOD� MH� YHOMDOD� WXGL� ]D� REYHÊáHYDOQR�
YDUQRVWQR�GHMDYQRVW�Y�RNYLUX�QDURGQRRVYRERGLOQHJD� JL�
EDQMD� �12*��� NL� MH� LPHOR� Y� UD]OLáQLK� GHOLK� -XJRVODYLMH
UD]OLáQH� RUJDQL]DFLMVNH� LQ� YVHELQVNH� UD]VHÌQRVWL��9� 6OR�
YHQLML� MH� WDNR� RG� VHSWHPEUD� ����� REVWDMDOD� 9DUQRVWQR�
REYHÊáHYDOQD�VOXÌED�2VYRERGLOQH�IURQWH��926�2)���NL�MH
Y� QDVOHGQMLK� OHWLK� UD]ÊLULOD� VYRMH� GHORYDQMH� QD� R]HPOMH
FHORWQH�6ORYHQLMH�LQ�WXGL�Y� WXMLQR� �3XáQLN���������������
8VWDQRYLWHY�RGGHOND�]D�LQR]HPVWYR�Y�RGVHNX�]D�QRWUDQMH
]DGHYH�PDUFD� ����� MH� QDGDOMHYDOD� LQ� UD]ÊLULOD� GHOR� RE�
YHÊáHYDOQHJD� SRGURáMD� 926� 2)� LQ� SRPHQLOD� WXGL� SUL�
áHWHN� SRÊLOMDQMD� REYHÊáHYDOFHY� WXGL� Y� ,WDOLMR�� 7L� VR� SUL�
GRELYDOL� SRGDWNH� R� YRMDÊWYX�� RERURÌLWYL�� QDáUWRYDQLK
RSHUDFLMDK�� OHJL� LQGXVWULMVNLK� REMHNRY� WHU� SUHYR]LK� YR�
MDÊNH�RSUHPH�LQ�PDWHULDOD��'HO�SRGDWNRY�VR�Y�áDVX�YRMQH
SRVUHGRYDOL� WXGL� ]DYH]QLNRP�� VDM� VR� ELOL� SRPHPEQL� ]D
XVSHK� YRMDÊNLK� RSHUDFLM� QD� IURQWL� Y� ,WDOLML� LQ� VHYHUQHP
-DGUDQX��'RUQLN�ÉXEHOM���������������

1D�WD�QDáLQ�VR�QDVWDOH�SRGODJH�]D�XVWDQRYLWHY�YRMDÊNH
REYHÊáHYDOQH� LQ� SURWLREYHÊáHYDOQH�2UJDQL]DFLMH� ]D� ]D�
ÊáLWR�QDURGD��2=1$���NL�MH�LPHOD�YVHVWUDQVNH�QDORJH�WDNR
QD�FLYLOQHP�NRW�QD�YRMDÊNHP�SRGURáMX��2=1$�MH�QDVWDOD
���� PDMD� ����� ]� QDYRGLORP� YUKRYQHJD� NRPDQGDQWD
1DURGQRRVYRERGLOQH� YRMVNH� LQ� SDUWL]DQVNLK� RGUHGRY
6ORYHQLMH� �129� LQ� 326��� 7LWD�� 3R� NRQFX� YRMQH� VR� ELOH
JODYQH� QDORJH� 2=1(�� GD� RKUDQL� SULGRELWYH� QDURGQR�
RVYRERGLOQHJD�ERMD��PHG�NDWHULP� MH�ELOD� WXGL� OLNYLGDFLMD
RVWDQNRY� RNXSDWRUVNLK�� NRODERUDFLRQLVWLáQLK� LQ� GUXJLK
WROS��SUHSUHáLWL�REYHÊáHYDOQR�GHMDYQRVW�LQ�LQWHUYHQLVWLáQR
GHORYDQMH� HPLJUDFLMH�� SUHGYVHP� ]� ]DKRGQLPL� REYHÊáH�
YDOQLPL�VOXÌEDPL��3XáQLN���������������

3ULVSHYHN� REUDYQDYD� DQDOL]R� DQJOR�DPHULÊNLK� GRNX�
PHQWRY� LQ�SRURáLO�R�GHORYDQMX�2=1(�Y� ,WDOLML�RG� NRQFD
GUXJH� VYHWRYQH� YRMQH� GR� OHWD� ������ 9HOLND� YHáLQD� WHK
GRNXPHQWRY�RPHQMD�2=12�WXGL�SR�OHWX�������áHSUDY�MH
ELOD� WDNUDW�Y� -XJRVODYLML�ÌH�XVWDQRYOMHQD�8SUDYD�GUÌDYQH
YDUQRVWL� �8SUDYD�GUÌDYQH�EH]EHGQRVWL��� WDNR� LPHQRYDQD
8'%$�� =DKRGQL� ]DYH]QLNL� VR� Y� WHP� áDVX� UD]YLOL� XáLQ�
NRYLWR� SURWLREYHÊáHYDOQR� GHMDYQRVW�� NL� MH� ]DJRWDYOMDOD
LQIRUPDFLMH� EULWDQVNHPX� YRMQHPX�PLQLVWUVWYX� �:DU�2I�
ILFH���:2���JODYQHPX�ÊWDEX�]DYH]QLÊNLK�VLO��$OOLHG�)RUFH
+HDGTXDUWHUV� �� $)+4��� SURWLREYHÊáHYDOQHPX� RGGHONX

]DYH]QLÊNHJD� JODYQHJD� ÊWDED� �*����� EULWDQVNL� REYH�
ÊáHYDOQL� VOXÌEL� QD� %OLÌQMHP� Y]KRGX� �6HFXLULW\� ,QWHO�
OLJHQFH� 0LGGOH� (DVW� �� 6,0(��� SURWLREYHÊáHYDOQR�YDU�
QRVWQLP�RGGHONRP�EULWDQVNH� YRMVNH� �)LHOG� 6HFXLULW\� 6HU�
YLFH� �� )66��� JODYQHPX� ÊWDEX� EULWDQVNH� YRMVNH� �*HQHUDO
+HDGTXDWHUV� �� *+4��� EULWDQVNL� DPEDVDGL� Y� %HRJUDGX�
VSHFLDOQL� SURWLREYHÊáHYDOQL� VOXÌEL� ]DYH]QLNRY� �6SHFLDO
&RXQWHU� ,QWHOOLJHQFH� �� 6&,�� WHU� SURWLREYHÊáHYDOQLP� RG�
GHONRP� DPHULÊNH� YRMVNH� �&RXQWHU�,QWHOOLJHQFH� &RUSV� �
&,&���*UDGLYR� R� GHORYDQMX�2=1(� MH� VKUDQMHQR� Y� IRQGX
EULWDQVNHJD�YRMQHJD�PLQLVWUVWYD��:2�������

1DMYHá� SRGDWNRY� MH� ELOR� R� RUJDQL]DFLML�� GHORYDQMX�
FLOMLK� LQ� DJHQWLK�2=1(� Y� ,WDOLML�� ÊH� SRVHEHM� QD� REPRáMX
-XOLMVNH� NUDMLQH�� NL� MH� ELOR� VSRUQR� REPRáMH� ]D� ,WDOLMR� LQ
-XJRVODYLMR�� 7R� R]HPOMH� MH� REVHJDOR� R]HPOMH� 7UÌDÊNH�
*RULÊNH�� *UDGLÊáDQVNH�� GHO� 1RWUDQMVNH� LQ� .RURÊNH� WHU
VORYHQVNR�LQ�KUYDÊNR�,VWUR�V�&UHVRP�LQ�/RÊLQMHP��,WDOLMDQL
VR�WR�REPRáMH�GRELOL�RE�NRQFX�SUYH�VYHWRYQH�YRMQH�LQ�MR
SRLPHQRYDOL� 9HQH]LD� *LXOLD�� 8VRGD� HWQLáQR� PHÊDQH
-XOLMVNH� NUDMLQH� MH� ELOD� RE� NRQFX� GUXJH� VYHWRYQH� YRMQH
QHGRUHáHQD�LQ�VR�Y�]DáHWNX�PDMD������SROHJ�VORYHQVNLK
SDUWL]DQRY� LQ� HQRW� ��� DUPDGH� Y� YHáMD�PHVWD� Y� QMHQHP
]DKRGQHP� GHOX� SULÊOL� WXGL� ]DKRGQL� ]DYH]QLNL�� 6SRU
GYRMQH�]DVHGEH�-XOLMVNH�NUDMLQH�VR�UHÊLOL�V�NRPSURPLVRP�
NL�MH�YHOMDO�GR�RGORáLWYH�PLURYQH�SRJRGEH�LQ�NL�MH�UD]GHOLO
-XOLMVNR� NUDMLQR� SR�0RUJDQRYL� áUWL� PHG� GYH� ]DVHGEHQL
YRMDÊNL�XSUDYL��DQJOR�DPHULÊNR�LQ�MXJRVORYDQVNR��QD�FRQL
$�LQ�%�-XOLMVNH�NUDMLQH��7URKD�����������������

25*$1,=$&,-$�2=1(�,1�1-(1,+�35('+2'1,&

2=1$� LQ�QMHQH�SUHGKRGQLFH� VR� GHORYDOH� WXGL� ]XQDM
MXJRVORYDQVNLK� PHMD�� 9� QDYRGLOLK� SRYHUMHQLND� ]D� QD�
URGQR� REUDPER� MH� ELO� WXGL� GHO�� NL� MH� SUDYLO�� �=DUDGL
RáLWQHJD� UD]YRMD�PHGQDURGQLK� ]YH]� 12*� QDVWDMD� QXM�
QRVW�LQ�PRÌQRVW�RUJDQL]LUDQMD�REYHÊáHYDOQH�VOXÌEH�Y�LQR�
]HPVWYX��=DWR�MH�ÌH�VHGDM�QXMQR�SRWUHEQR�XVWYDULWL�HQRWQR
LQ� PRáQR� RUJDQL]DFLMR�� NL� MH� RSUDYOMDOD� REYHÊáHYDOQR
VOXÌER� Y� LQR]HPVWYX� LQ� QD� RNXSLUDQHP� R]HPOMX� WHU
NRQWUDREYHÊáHYDOQR� VOXÌER�Y�129-� LQ�QD�RVYRERMHQHP
LQ�QHRVYRERMHQHP�R]HPOM���3XáQLN���������������

2=1$�MH�ELOD�UD]GHOMHQD�QD�SHW�RGVHNRY��SUYL���RGVHN
]D�WXMLQR��2=1$�,���GUXJL���RGVHN�]D�REYHÊáHYDOQH�VOXÌEH
�2=1$� ,,��� WUHWML���RGVHN�]D�SURWLREYHÊáHYDOQR� VOXÌER� Y
YRMVNL� �2=1$� ,,,���áHWUWL���RGVHN�]D�HYLGHQFR� �2=1$� ,9�
LQ�SHWL���RGVHN�]D�YDURYDQMH� OMXGL��NL�JD� MH�SUHGVWDYOMDOD
]DÊáLWQD�HQRWD� �2=1$�9�� �'RUQLN� ÉXEHOM�� ������ ������
71$�������3RVHEHM�SRPHPEHQ�MH�ELO�SUYL�RGVHN��2=1$�,��
NL�MH�LPHO�QDORJR�VSUHPOMDWL�SRORÌDM�Y�,VWUL�LQ�VHYHUQL�,WDOLML
Y�]YH]L�V�SULáDNRYDQLPL�UHDNFLMDPL�DQJOR�DPHULÊNLK�áHW�

� $N=@ERK�>NEP=JOGAC=�RKFJAC=�IEJEOPNOPR=� 4=N�,BBE?A���4,
�OA�@=JAO�J=D=F=�R�>NEP=JOGAI�@N�=RJAI�=NDERQ� 1DA�+=PEKJ=H��N?DERAO��
1+�
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$QJOR�DPHULÊNL�GRNXPHQWL� VR� SRURáDOL�� GD� MH�2=1$
L]YDMDOD�VYRMH�DNWLYQRVWL�Y� ,WDOLML��*UáLML��ÉYLFL��)UDQFLML� LQ
QDMYHUMHWQHMH� WXGL�1HPáLML�]�QDPHQRP� ]DJRWRYLWL�REYH�
ÊáHYDOQR�GHORYDQMH�QDG�MXJRVORYDQVNLPL�GLVLGHQWL�Y�HPL�
JUDFLML�LQ�]DYH]QLÊNR�SROLWLNR�GR�QMLK��8MHWL�MXJRVORYDQVNL
DJHQW�2=1(�MH�WUGLO��GD�MH�ELOD�QMHJRYD�QDORJD�SURGUHWL�Y
WDNR� LPHQRYDQH� SURWLWLWRLVWLáQH� RUJDQL]DFLMH� LQ� WXGL
XJRWRYLWL�� NROLNR� VH� ]DYH]QLÊNH� REODVWL� LQ� REYHÊáHYDOQH
VOXÌEH� ]DQLPDMR� LQ� NROLNR� VR� YSOHWHQH� Y� MXJRVORYDQVNH
]DGHYH��71$������

$QJOR�$PHULáDQL� VR� XJRWDYOMDOL�� GD� VR� ELOL� ÌH� SUHG
QDVWDQNRP�2=1(�SRPHPEQL�MXJRVORYDQVNL�REYHÊáHYDOQL
FHQWUL�Y�7UVWX��0LODQX��%RORJQL��3DGRYL��$QFRQL��=�RUJD�
QL]LUDQR�DNWLYQRVWMR�VR�SULáHOL�OHWD�������NR�MH�GHORYDO�ÊH
926�� SR� NDSLWXODFLML� ,WDOLMH� SD� V� SRPRáMR� $QJOR�$PH�
ULáDQRY� LQ�QRYH�SUR]DYH]QLÊNH� LWDOLMDQVNH�YODGH�QD� MXJX
$SHQLQVNHJD� SRORWRND�� 3R� YVHM� MDGUDQVNL� REDOL� VR� ELOL
XVWDQRYOMHQL� REYHÊáHYDOQL� FHQWUL�� WDNR� GD� MH� NPDOX� QD�
VWDOD� XáLQNRYLWD� SRGWDOQD� REYHÊáHYDOQD� PUHÌD� SR� YVHM
,WDOLML��0DMRU�7RPR�3HULF��MH�ELO�YRGMD�SUYH�REYHÊáHYDOQH
RUJDQL]DFLMH�Y�,WDOLML��71$�����

/MXED� 'RUQLN� ÉXEHOM� QDYDMD�� GD� MH� ELO� Y� RNYLUX
REYHÊáHYDOQHJD� GHOD� 926� OHWD� ����� ]D� GHOR� Y� ,WDOLML
SULVWRMHQ� MXÌQRSULPRUVNL� FHQWHU�� NMHU� MH� ELO� %RULV� )HUODW�
%RMDQ�RGJRYRUHQ�]D�VHYHUQR� ,WDOLMR� LQ�%RULV�&HUJRM�7RQH
]D� GHOR� Y� VUHGQML� ,WDOLML�� 3UHG� UD]SXVWLWYLMR� 926� VH� MH
VHNWRU�]D�GHORYDQMH�Y� LQR]HPVWYX� LPHQRYDO�VHNWRU��É���9
7UVWX� MH�VHNWRU� �É��YRGLOD�0LOND�*RGQLá�9OWDYD��Y�9LGPX
'DULQND�%RÊNLQ��Y�9LFHQ]L�%RULV�)HUODQ�%RMDQ��Y�0LODQX
-RODQGD�.UDMQLN�-HOND�LQ�Y�%RORJQL�*DEULMHO�.XPHU�'DQLOR
LQ� 'DQLFD� .XPHU�� &HQWHU� REYHÊáHYDOQHJD� GHORYDQMD� Y
5LPX� MH� ELO� RUJDQL]LUDQ� L]� /MXEOMDQH�� YRGLO� SD� JD� MH� GU�
)UDQáHN�.RV�0HOKLRU��NL� MH�QDWDQáQR�RSLVDO� VYRMH� ]YH]H
LQ� XJRWRYLWYH�� NL� VR� ELOH� SRVOHGLFH� QMHJRYHJD� REYHÊáH�
YDOQHJD� GHOD��%LO� MH� GREHU� SULMDWHOM� V�&LULORP� .RWQLNRP�
YLFHNRQ]XORP� QHNGDQMHJD� MXJRVORYDQVNHJD� NRQ]XODWD�
]DWR�MH�ELO�GREUR�REYHÊáHQ�R�MXJRVORYDQVNHP�SRVODQLÊWYX
Y� 9DWLNDQX�9� áDVX� GHORYDQMD� 926� VR� QMHJRYL� DJHQWMH
]ELUDOL� SUHGYVHP� YRMDÊNH� SRGDWNH�� NDVQHMH� SD� VR� VH
RVUHGRWRáLOL�WXGL�QD�]ELUDQMH�SROLWLáQLK�SRURáLO�

3R� UD]SXVWLWYL�926�2)� LQ�SR�XVWDQRYLWYL�RGGHOND� ]D
LQR]HPVWYR�MH�SULÊOR�GR�QHNDWHULK�NDGURYVNLK�VSUHPHPE�
SROHJ� WHJD�SD�VR� MXOLMD������RUJDQL]LUDOL� VHGHP�FHQWURY�
R]QDáHQLK� SR� DEHFHGL�� 3R� NDSLWXODFLML� ,WDOLMH�� ��� VHS�
WHPEUD�������LQ�SR�RVYRERGLWYL�5LPD�� MXOLMD�QDVOHGQMHJD
OHWD�� MH� WD� SRVWDO� SRPHPEQR� ]ELUDOLÊáH� QDVSURWQLNRY
12*��PHG�NDWHULPL�YHOMD�RPHQLWL�&LULOD�ËHERWD�9RMND�LQ
5DGND� &RWLáD� WHU� ÌH� RPHQMHQHJD� &LULOD� .RWQLND�� 3ROHJ
RPHQMHQLK� MH� Y� 5LP� SULKDMDOR� YHGQR� YHá� 6ORYHQFHY� L]
NRQILQDFLMH� LQ� NRQFHQWUDFLMVNLK� WDERULÊá� ]� QDPHQRP
YUQLWL�VH�Y�-XJRVODYLMR��'RUQLN�ÉXEHOM���������������

3URWLREYHÊáHYDOQL� RGGHONL� DPHULÊNH� YRMVNH� VR� SRUR�
áDOL��GD�MH�LPHOD�2=1$�DJHQWH�SR�YVHK�YHáMLK�LWDOLMDQVNLK

PHVWLK�� GHORYDOD� SD� MH� WXGL� SRG� RNULOMHP� DOEDQVNH� LQ
áHÊNH�YRMDÊNH�PLVLMH�WHU�GUXJLK�PHGQDURGQLK�RUJDQL]DFLM�
9�,WDOLML�VWD�QDMYHá�GHORYDOL�2=1$�,�LQ�2=1$�,,��PHGWHP
NR�MH�ELOD�2=1$�,,,�DNWLYQD�VDPR�Y�-XOLMVNL�NUDMLQL�Y�YVHK
YRMDÊNLK�IRUPDFLMDK�GR�UDYQL�áHWH��71$�����

1DMYHá�RVXPOMHQLK�RVHE�� áHÊ�GD� VR� DJHQWL�2=1(�� MH
ELOR� WUJRYFHY�� SRVORYQHÌHY�� ÊWXGHQWRY� LQ� VLQGLNDOLVWRY�
PHG� NDWHULPL� QDMGHPR� WXGL� VUHGQMHÊROVNH� SURIHVRUMH�
6WRWQLN�'DYLGVRQ� MH�SRURáDO��GD�VR�DJHQWL�2=1(�QDMYHá�
NUDW� REOHáHQL� Y� FLYLOQD� REODáLOD�� QRVLOL� QDM� EL� PRGUH
NOREXNH��Y�ÌHSLK�QD� VUDMFDK�SD� VR�QRVLOL�QDOLYQD�SHUHVD
NRW�]QDN�PHGVHERMQH� LGHQWLILNDFLMH��$JHQWL�2=1(� ,� LQ� ,,
VR�ELOL�REOHáHQL�Y�FLYLOQD�REODáLOD��PHGWHP�NR� VR�DJHQWL
2=1(�,,,�QRVLOL�YRMDÊNH�XQLIRUPH��NDU�SD�QL�YHGQR�GUÌDOR
�71$�������$JHQWL�R]LURPD�VRGHODYFL�2=1(�VR�SR�]DYH]�
QLÊNLK�SRGDWNLK�PHVHáQR�]DVOXÌLOL�PHG�������GR�������
OLU��ÊH�SRVHEHM�GYRMQL�DJHQWL��NL�VR�]DVOXÌLOL�RNROL�������
OLU�PHVHáQR��=QHVNL� VR� VH� VSUHPLQMDOL�JOHGH�QD�NDNRYRVW
LQIRUPDFLM��NL�VR�MLK�SRVUHGRYDOL��71$�����71$������

5D]YHMHQRVW�2=1(� Y� ,WDOLML� VR� $QJOR�$PHULáDQL� UD]�
GHOLOL� QD� REPRáMH� VHYHUQH�� VUHGQMH� LQ� MXÌQH� ,WDOLMH�� 9
VHYHUQHP� GHOX�� -XOLMVNL� NUDMLQL�� VR� ELOL� QDMEROM� DNWLYQL
6ORYHQFL�� PHGWHP� NR� VR� ELOL� Y� VUHGQML� LQ� MXÌQL� ,WDOLML
DNWLYQHMÊL�6UEL� LQ�'DOPDWLQFL��9�VHYHUQL� ,WDOLML� MH�ELO�SROHJ
7UVWD� SRPHPEHQ� FHQWHU� 2=1(� Y� 0LODQX�� NMHU� MH� ELOR
QDVWDQMHQLK� YHá� -XJRVORYDQRY�� NL� VR� GHORYDOL� Y� XOLFDK
0DFHGRQLR�0HOORQL� ���� %RFFKHWWR� �� LQ� 3DVWDORJJLD� ��
SRG�SRYHOMVWYRP�8JD�.UDKOD��2PHQMD�VH�ÊH�DJHQW��0LODQ��
NL� MH� YRGLO� NXULUVNR� ]YH]R� Y� VHYHUQL� ,WDOLML� LQ� GHORYDO� ]
EUH]ÌLáQLP� UDGLMVNLP� RGGDMQLNRP� �:�7��� 2=1$� MH� Y
0LODQX�GHORYDOD�WXGL�SURWL�MXJRVORYDQVNLP�GLVLGHQWRP��NL
VR�SULÊOL�Y�PHVWR�L]�ÊWHYLOQLK�WDERULÊá�SR�,WDOLML��71$�����

1D� REPRáMX� VUHGQMH� ,WDOLMH� MH� ELOD� DNWLYQRVW� 2=1(
RVUHGRWRáHQD�Y� LWDOLMDQVNHP�JODYQHP�PHVWX�5LP��NMHU� MH
ELO� WXGL�SRYRMQL�VHGHÌ�2=1(�]D� ,WDOLMR��NL�JD� MH�YRGLO�GU�
6PRGODND�� 1MHQ� SUYL� FHQWHU� MH� ELO� QD� VHGHÌX� MXJRVOR�
YDQVNH� DPEDVDGH� Y� XOLFL� 0RQWL� 3DULROL� ���� 2VXPOMHQL
VRGHORYDQMD�]�2=12� VR�ELOL�SRURáQLN�1LNHURII��7DWMDQD
%RUXVNDMD�� 6RQMD� *HUPHN�� %UDQNR� .DFKLFK�� 1HGH]GD
0RPFKLORYLFK�� %UDQNR� 3HMDFKHYLFK�� $OLGR� 3DUHQWD�
-RYDQ�6WRMDQRYLFK��6XOILNDQ�3DVLF��0LURVODY�6DSLQD��0LR�
GUDJ�9XFNRYLF�� -RVLS�.RFLFK��%RJGDQ�9XNVDQ��'LPLWULMH
-RYDQRYLFK��.X]QDQ�6RWLURYLF�WHU�áODQD�áUQRJRUVNH�2=1(
0RPFLOR�*RORYLF�LQ�6YHWR]DU�5DGRMHYLF��2PHQMDMR�VH�ÊH
SULLPNL�RVXPOMHQLK��NRW�VR��'HPLURYLF��&LFLOLDQL��$QWXQDF
LQ�0LODWRYLF��'UXJL�REYHÊáHYDOQL� FHQWHU� MH� ELO� SUL� -DQNX
6RNOLFX�Y�XOLFL�$OSL�����NL�MH�GHORYDO�SRG�ODÌQLP�LPHQRP
*LRYDQQL�3RHWL�� ]�QMLP�SD� VWD� VRGHORYDOD�9LGD� /XNRYHF
WHU�*RUGDQD� 3RSRYLF�� NL� MH� Y� VYRMHP� VWDQRYDQMX� Y� XOLFL
9LFHQ]D�RUJDQL]LUDOD�VNULYQH�VHVWDQNH�VRGHODYFHY�2=1(�
7UHWML�FHQWHU� MH�ELO�Y�XOLFL�4XLQWLQR�6HOOD��NMHU� MH�GHORYDO
9XN�'UDJRYLF� VNXSDM� V� SRYHOMQLNRP�2=1(� Y� 5LPX�� GU�
6PRGODNR��71$�����71$������71$������71$������
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9�1HDSOMX�MH�QHNDM�áDVD�GHORYDO�LOHJDOQL�MXJRVORYDQVNL
NRQ]XODW��NL�MH�RUJDQL]LUDO�REYHÊáHYDOQH�DNWLYQRVWL�Y�MXÌQL
,WDOLML��9HOLNR� VNUE� ]D� ]DYH]QLNH� MH�2=1$� SRY]URáDOD� V
SRÊLOMDQMHP� DJHQWRY� QD� 6LFLOLMR�� GD� EL� VH� SRYH]DOL� V
VLFLOVNLP� VHSDUDWLVWLáQLP� JLEDQMHP� �0RYLPHQWR� 6HSDUD�
WLVWR� 6LFLOLDQR��� 3R� DQJOR�DPHULÊNLK� SURWLREYHÊáHYDOQLK
SRGDWNLK� QDM� EL� -XJRVODYLMD� SRGSLUDOD� VHSDUDWLVWLáQR
JLEDQMH� QD� 6LFLOLML� LQ� WDP� SULáHOD� ]� RUJDQL]DFLMR� NRPX�
QLVWLáQH� UHYROXFLMH� Y� ,WDOLML�� 'RPQHYDPR�� GD� VR� ELOH
DNWLYQRVWL� 2=1(� Y� MXÌQL� ,WDOLML� XVPHUMHQH� SUHGYVHP� Y
QDG]RU� MXJRVORYDQVNLK� NUDOMHYLK� SROLWLNRY� LQ� QHNGDQMLK
áHWQLNRY�� NL� VR� WDP� GHORYDOL�� -DGUDQVND� REDOD� MH� ELOD
]DUDGL�VODEHJD�LWDOLMDQVNHJD�QDG]RUD�]HOR�ODKNR�GRVWRSQR
REPRáMH� ]D� SHQHWUDFLMR� DJHQWRY� 2=1(� L]� 'DOPDFLMH
�71$������71$������71$������

9� %DULMX� MH� ELOD�2=1$� DNWLYQD� RG� QDVWDQLWYH� MXJR�
VORYDQVNH� YRMDÊNH�PLVLMH�PHG� YRMQR�� NL� MR� MH� RE� NRQFX
WXGL� ]DSXVWLOD�� ËH� Y� áDVX� YRMQH� VR� ]DYH]QLÊNL� REYHÊáH�
YDOQL� SRGDWNL� SRURáDOL� R� SRGSRONRYQLNX� 3HNLWFKX� NRW
HQHPX� JODYQLK� RUJDQL]DWRUMHY� REYHÊáHYDOQH� GHMDYQRVWL�
3RYRMQL� ]DYH]QLÊNL� SRGDWNL� VSRURáDMR�� GD� MH� 2=1$
GHORYDOD�Y�XOLFDK�*DUUXEL����WHU�$ERWH�*LPPD������NMHU
MH� ÌLYHO� $UWXU� 1LNROLF�� NL� VR� JD� VXPLOL� RUJDQL]DFLMH
WUJRYLQH�]�RURÌMHP�]D�SRGSRUR� VHSDUDWLVWLáQHJD�JLEDQMD
QD�6LFLOLML��*ODYQD�QDORJD�2=1(�QD� WHP�REPRáMX� MH�ELOD
HOLPLQDFLMD� YVHK� WLVWLK�� NL� VR� GHORYDOL� SURWL� 7LWX�� LQ� SUH�
SUHáLWHY�QMLKRYH�YUQLWYH�Y�-XJRVODYLMR��71$�����

%HQHWNH� VR�PHG� YVHPL� LWDOLMDQVNLPL�PHVWL� YHOMDOH� ]D
FHQWHU� SURWLNRPXQLVWLáQHJD� GHORYDQMD��2=1$� MH� Y� WHP
PHVWX�DNWLYQR�QDG]LUDOD�ÊYLFDUVNR�YHOHSRVODQLÊWYR��VDM�VR
SUHNR� QMHJD� NUDOMHYR� XVPHUMHQH� -XJRVORYDQH� SRÊLOMDO� Y
.DLUR�LQ�GUXJD�LWDOLMDQVND�PHVWD��71$������

2=1$�9�-8/,-6.,�.5$-,1,

3R�NRQFX�YRMQH� VR� UD]PHUH�Y� -XOLMVNL� NUDMLQL�QDUHNR�
YDOH�LQWHQ]LYQR�REYHÊáHYDOQR�GHMDYQRVW�2=1(�LQ�$QJOR�
$PHULáDQRY��5D]PDK�12*� LQ� SULVRWQRVW� -XJRVORYDQVNH
DUPDGH�Y�FRQL�%�VWD�SRVWDYOMDOL�-XOLMVNR�NUDMLQR�Y�SRVHEHQ
SRORÌDM��NDU� MH�YSOLYDOR� WXGL�QD�RUJDQL]DFLMR�2=1(��3R�
URáLOD� ]DKRGQLK� ]DYH]QLNRY� VR� XJRWDYOMDOD�� GD� MH� ELOR
SURMXJRVORYDQVNR� JLEDQMH� Y� FRQL� $� RUJDQL]LUDQR� SR
PRGHOX� MXJRVORYDQVNH�XSUDYH� LQ� MH�SUHGVWDYOMDOR�XSUDYR
Y� VHQFL� SRG� RNULOMHP� /MXEOMDQH�� 7DNR� MH� ELOD� 2=1$� Y
-XOLMVNL�NUDMLQL�]DVWRSDQD�WDNR�NRW�GUXJMH�SR�-XJRVODYLML���]
YVHPL�VYRMLPL�RGVHNL��9�-XOLMVNL�NUDMLQL�VWD�ELOL�QDPHÊáHQL
WXGL� GYH� EULJDGL� 2=1(�� LQ� VLFHU� SUYD� QD� GDQDÊQML
VORYHQVNL� REDOL� LQ� GUXJD� Y� KUYDÊNL� ,VWUL� �71$�� ���� 71$�
�����=DKRGQL�]DYH]QLNL� VR� L]�YVHK� VYRMLK� DQDOL]�XJRWDY�
OMDOL�� GD� MH� GHORYDQMH� 2=1(� SUHGVWDYOMDOR� JURÌQMR� ]D�
YH]QLÊNL�XSUDYL�LQ�YDUQRVWL�QD�REPRáMX�-XOLMVNH�NUDMLQH�

7DNR� DQJOR�DPHULÊNR� SURWLREYHÊáHYDOQR� SRURáLOR
QDYDMD��GD��2=1$�YH��NDM�KRáH��LQ�VYRM�FLOM�QDPHUDYD�WXGL
GRVHáL��1HNDWHUL�XVOXÌEHQFL�2=1(� VR� IDQDWLáQL� LGHDOLVWL�

NL�EL� GDOL� YVH�� GD� EL� -XJRVODYLMD� RKUDQLOD� GRPLQDFLMR� QD
SRGURáMX� -XOLMVNH� NUDMLQH�� �71$������=� YHOLNR� ÌDORVWMR� VR
XJRWDYOMDOL�� GD� VR� WXGL� ÊWHYLOQL� ,WDOLMDQL� SULSDGDOL�2=1,�
SUHGYVHP�WLVWL��NL�VR�SREHJQLOL�L]�,WDOLMH�]DUDGL�SROLWLáQHJD
R]DGMD�DOL�]DUDGL�]ORáLQRY��NL� VR� ML�]DNULYLOL��(GHQ� WDNLK�
(WWRUH�&DVDJUDQGH�]�5HNH��QDM�EL�]�OHWDORP�RGOHWHO�Y�FRQR
%��NMHU�JD� MH�2=1$�SULYDELOD�Y� VYRMH� YUVWH�� LQ�SRGREQR
3LR�&URFH��NL� MH�Y�FRQR�%�SREHJQLO�SRG� ODÌQLP� LPHQRP
0DULR�5LJKL��71$�����

9� *RULFL� LQ� RNROLFL� VR� RVXPOMHQL� VRGHODYFL� 2=1(
GHORYDOL� SR� XND]LK� .DUOD� .XPVHWD� LQ� %RULVD� 0R]LQH�
6HVWDMDOL�QDM�EL�VH�Y�UHVWDYUDFLML�=YH]GD��NMHU�QDM�EL�=PDJR
R]LURPD� =PDJRVODY�� ]DSRVOLO� Y� 2=1,� RNROL� ���� OMXGL�
0HG� RVXPOMHQL� QDMGHPR� RVHEH��0LURVODY� &HQN�� 6WRMDQ
.OHPVH�� )UDQF� .DQWH�� *LRYDQQL� 9RGRSLYHF�� *LRYDQQL
*UD]LDQL��/XLJL�'H�&DUOL��*LRYDQQL�5LQDOGL��0DULR�&HUQH
LQ�9LUJLOLR�3ULQFLF��71$�����71$�����

7XGL� Y�9LGPX� MH� LPHOD�2=1$� UD]YLWR� REYHÊáHYDOQR
GHMDYQRVW�LQ�GREUR�UD]YHMHQR�NXULUVNR�PUHÌR��SRYH]DQR�V
7UVWRP�� 'HORYDOD� MH� SRG� LPHQRP� 8IILFLR� SROLWLFR� GL
FROOHJDPHQWH� ,WDOR�6ORYHQR� �83&,6�� SRG� SRYHOMVWYRP
WRYDULÊD� �0LUND���2VXPOMHQFL� VR� ELOL� Y� YHáLQL� LWDOLMDQVNH
QDURGQRVWL��1DPHQ�83&,6� MH�ELO� L]YDMDQMH�REYHÊáHYDOQH
GHMDYQRVWL�SURWL�YVHP�SURWLMXJRVORYDQVNLP�RUJDQL]DFLMDP
LQ� ]DYH]QLÊNLP� REYHÊáHYDOQLP� VOXÌEDP� Y� )XUODQLML� LQ
REPRáMX�àHUYLQLMDQD��71$�����

2=1$�9�75678

2G� YVHK� PHVW� Y� -XOLVNL� NUDMLQL� MH� LPHO� 7UVW� QDM�
SRPHPEQHMÊR�YORJR�]D�MXJRVORYDQVNR�12*��/MXED�'RU�
QLN� ÉXEHOM� SLÊH�� GD� MH� ELO� ÌH� OHWD� ����� Y� 7UVWX� VHGHÌ
áHWQLÊNHJD�JLEDQMD�YRMYRGH�'REURVODYD� -HYGMHYLßD��NL� MH
LPHOR� VHGHÌ� Y� KRWHOX� &RQWLQHQWDO�� 6NUEHOL� VR� ]D� EHJ
QHNGDQMLK� MXJRVORYDQVNLK�RILFLUMHY�Y�ÉYLFR�� ,VWHJD� OHWD� MH
2=12�]D�7UVW�YRGLO�)UDQF�ÉSDFDSDQ�àUW�VNXSDM�V�&LULORP
%UDQLVOMHP� LQ� V� VRGHODYFL�2=1$� ,� GU�� 6UHáNRP� .RÊXWR�
2VNDUMHP� .RUFHP� LQ� 'XÊDQRP� 0XQLKRP�'DUNRP�� 9
VHNFLMR�2=1(�]D�7UVW�VR�ELOH�YNOMXáHQH�WXGL�0LOMH��.RSHU
LQ� 7UÌLá�� 1MLKRYD� JODYQD� QDORJD� MH� ELOD� SULGRELYDQMH
SROLWLáQLK�SRGDWNRY�R�)1,��)URQWR�QD]LRQDOH�,WDOLDQD���3&,
�.RPXQLVWLáQD� SDUWLMD� ,WDOLMH��� VWUDQNDK� Y� )1,�� R� LWDOLMDQ�
VNHP�SDUWL]DQVWYX� WHU�EULWDQVNLK� LQ� DPHULÊNLK� YSOLYLK�QD
LWDOLMDQVNH�VWUDQNH��'RUQLN�ÉXEHOM���������������

3URWLREYHÊáHYDOQL� SRGDWNL� $QJOR�$PHULáDQRY� QDV
RSR]DUMDMR��GD� MH�2=1$� ]DUDGL� SRVHEQH� YORJH� 7UVWD� ]D
12*�RE� NRQFX� YRMQH�Y�QMHP� RUJDQL]LUDOD� VYRM� YUKRYQL
ÊWDE��NL� VH� MH�GHOLO�QD� ÊWLUL� VHNWRUMH��9�YVDNHP� VHNWRUMX� MH
GHORYDOD� SRG� NULQNR� ÊWHYLOQLK� WUJRYVNLK� LQ� GUXJLK
RUJDQL]DFLM��NRW�VR�7HOHJUDIVND�DJHQFLMD�QRYH� -XJRVODYLMH
�7$1-8*���5GHáL� NULÌ��NL� VR�ELOH� QHSRVUHGQR� SRGUHMHQH
2=1,�Y� /MXEOMDQL�R]LURPD�%HRJUDGX��2=1$�QDM�EL�ELOD
XVSHÊQD� WXGL� ]DUDGL� VRGHORYDQMD� ]� LWDOLMDQVNR� NRPXQL�
VWLáQR�VWUDQNR�-XOLMVNH�NUDMLQH��3DUWLWR�&RPPXQLVWD�*LXOL�

� +=FRANFAPJAFA�OA�V=�EIAJKI�7I=CK�OGNER=�J=NK@JE�DANKF�/=OPEOH=R�!AHLEJ�



$11$/(6�©�6HU��KLVW��VRFLRO��©����©������©��

%ODÌ�725.$5��$1*/2�$0(5,É.$�3252à,/$�2�'(/29$1-8�2=1(�9�-8/,-6.,�.5$-,1,�,1�9(à-,+�,7$/,-$16.,+�0(67,+�����������

���

DQR�3&*��� 9HáLQD� SULSDGQLNRY� 2=1(� Y� 7UVWX� MH� SUL�
SDGDOD� ,�� LQ� ,,�� RGVHNX��PHGWHP� NR� VWD� ,,,�� LQ� ,9�� RGVHN
GHORYDOD�Y�MXJRVORYDQVNL�YRMDÊNL�PLVLML�LQ�ÊWDEX����DUPDGH
Y� $MGRYÊáLQL�� 3RYH]DYH� QDM� EL� LPHOD� WXGL� WXGL� V� 6OR�
YHQVNR�LWDOLMDQVNR� DQWLIDÊLVWLáQR� XQLMR� �6,$8� �� 8QLRQH
$QWLIDVFLVWD� ,WDOR�6ORYHQD�8$,6��� ]D� NDWHUR� VR� GHORYDOL
%HQD�0H]H�� )UDQF� 6DNVLGD�� ,YDQ� 3UNXW� LQ� QHNL� 7DYFDU�
7DNUDW� QDM� EL� 2=12� Y� 7UVWX� YRGLO� DJHQW� �,YDQ��� .RW
SRYHOMQLN�2=1(� ]D�7UVW� VH� VHSWHPEUD������ MH�RPHQMHQ
�=DMHF���QRYHPEUD������5XGL�*UDMI��OHWD������SD�(PLOLMR
6DMQ�R]LURPD�WRYDULÊ�-DQNRYLF��71$�����71$�����

2=1$�MH�QRYHPEUD������UD]GHOLOD�WUÌDÊNH�VHNWRUMH�QD
SURSDJDQGQL�� LQIRUPDFLMVNL� RGGHOHN�� RGGHOHN� ]D� SUHG�
PHVWMH�7UVWD��]D�FHQWHU�7UVW��]D�REYHÊáHYDOQR�GHMDYQRVW�
SURWLREYHÊáHYDOQR� GHMDYQRVW��9� WHM� VWUXNWXUL� MH� LJUDO� SR�
PHPEQR�YORJR�ÊH�]YH]QL�RILFLU�]D�]YH]R�V�6ORYHQLMR��SR�
YHOMQLN�2=1(�]D�.RSHU�� WHU�SUHGVWDYQLND� WUÌDÊNLK�DQWLID�
ÊLVWLáQLK�RUJDQL]DFLM�8$,6� LQ�*LRYHQWX�$QWLIDVFLVWD�7ULH�
VWLQD� �*$7���1HNDWHUH�SRPHPEQH�RVHEQRVWL�QDÊWHWLK�RG�
GHONRY� VR� ELOH�� SRURáQLFD� 0HWND�� QDGSRURáQLFD� &HUW�
VWRWQLN� 6WRMDQRYLF�� SRURáQLN�'XÊDQ�0RJRURYLF�� JHQHUDO
1HULQR�0RUR��PDMRU� 6XEDQ�� SRURáQLN� 'DQLOR� %L]LDFKL�
SRURáQLN� )XOPLQH�� 0DUFHOOR� %XGGD�� )UDQF� 6WRND�� QDG�
SRURáQLN�=GUDYNR�6SDQ��VWRWQLN�8GRYLF�WHU�LPHQL�0LKD�LQ
6RNRO� �71$�� ���� 71$�� ���� .RW� YHOLN� SULVWDÊ� 2=1(� MH
RPHQMHQ�GU��0DULMDQ�0DÊHUD��NL�QDM�EL�ELO� WXGL�YSOHWHQ�Y
QHNDWHUH�]ORáLQH�Y�7UVWX�

/HWD������MH�ELOR�Y�7UVWX�SR�DQJOR�DPHULÊNLK�SRGDWNLK
RNROL��������RUJDQL]LUDQLK�NRPXQLVWRY��PHG�NDWHUH�QLVR
ÊWHOL�SULSDGQLNRY� MXJRVORYDQVNH�PODGLQVNH�NRPXQLVWLáQH
RUJDQL]DFLMH��6DYH]�NRPXQLVWLáNH�RPODGLQH�-XJRVODYLMH��
6.2-���9Há�SLVDUQ�2=1(� MH�GHORYDOR�Y�SRVDPH]QLK� VHN�
WRUMLK�LQ�GUXJLK�VORYHQVNLK�SROLWLáQR�YRMDÊNLK�RUJDQL]DFLM�
NL�VR�LPHOH�VHGHÌ�Y�YHáQDGVWURSQL�VWDYEL�Y�XOLFL�&DUGXFFL
���]D�NDWHUR�QDM�EL�GHORYDOR�RNURJ�������OMXGL��RG�NDWHULK
QDM� EL� ELOR� RNROL� ���� áODQRY� .RPXQLVWLáQH� SDUWLMH
-XJRVODYLMH��.3-���6HGHÌ�2=1(�MH�ELO�Y�WUHWMHP�QDGVWURSMX
WH� VWDYEH�� 7LVWHJD� OHWD� QDM� EL� Y� 7UVW� SULÊOR� RNROL� �����
LWDOLMDQVNLK�NRPXQLVWRY��NL�VR�SURWHVWLUDOL�SURWL�]DKRGQLP
]DYH]QLNRP��71$�����71$�����71$������

2=1$�MH�GHORYDOD�Y�YHá�FHQWULK�R]LURPD�]ELUDOLÊáLK�Y
7UVWX�� LQ�VLFHU�Y�KLÊL�0DULH�5RVH�Y�XOLFL�5RPD��������NMHU
QDM�EL�GHORYDOR����RVHE��9VL�VR�ELOL�6ORYHQFL�L]�/MXEOMDQH�
$MGRYÊáLQH��3RVWRMQH�LQ�*RULFH��&HQWHU�REYHÊáHYDOQH�GH�
MDYQRVWL�MH�ELO�WXGL�Y�XOLFDK�5RPD�����*LQQDVWLFD�����9LOOD
$OHVVL���&DSULQ���WHU�&LFHURQH����NMHU�MH�ELO�VHGHÌ�5GHáHJD
NULÌD��'DOMH�VR�RPHQMHQD�ÊH�]ELUDOLÊáD��6DQ�*LXVWR�5RLD�
QR��6DQ�/XLJL��6HUYROD��0RQWH�%HOOR��6DQ�*LRYDQQL��6FR�
JOLHWR��6($�*DUDJH�Y�XOLFL�5DIILQHULD��7DEDFFR�([FKDQJH�Y
XOLFL�0RQWDVVLQL��Y� UHVWDYUDFLMDK� LQ�JRVWLOQDK�$L�'XH�5D�
VSL��3RUGHQRQH��$O�&DYDOOLQR��3HVFDWRUH��)XUODQ��=H]OLQ�WHU
Y�KRWHOLK�&RQWLQHWDO� LQ�(XURSD� WHU�EDUX�6WHOOD�3RODUH��9VD
QDÊWHWD� ]ELUDOLÊáD� VR� R]QDáLOL� QD� SRVHEQHP� ]HPOMHYLGX
PHVWD�7UVW�� NL� MH� ]DYH]QLNRP� VOXÌLO� ]D�EROMÊR�RULHQWDFLMR

QD�WHUHQX��3ROHJ�FHQWURY�LQ�]ELUDOLÊá�MH�Y�WHP�PHVWX�GHOR�
YDOR� ÊH� YHOLNR� NXULUMHY� LQ� LQIRUPDWRUMHY�� NL� MLP� MH� SRYH�
OMHYDO��7UDWQLN���áLJDU�VLPERO�MH�ELO�PRWRU�JLOHUD��71$�����

0HG�QDMYHáNUDW�RPHQMHQLPL�RVXPOMHQFL� LQ� VRGHODYFL
2=1(� Y� 7UVWX� VR� ELOL��� 0DUNR� LQ� =RUND� /R]LF�� 5DGH
&HUNYHQLN��=GHQNR�&ROMD��0DULMDQ�6LORYLFK��)UDQMR�0LKH�
OLQ��*LRYDQQL� 3DQMHN��PDMRU� -DNVHWLFK�� VWRWQLN�0RUJHUD�
0LKDMOR�$QGULF��'HO�3RQWH�1HULQR��'DSFHYLF� �EUDW�3HND
'DSáHYLßD���0LUR�.UDQMF��LQÌHQLU�2JUL]HN��-HUQHM�3RURSDW�
$ORLV�.DKRO��*LXVHSSH�1HUL��0DULR�3DKRU��*XLGR�7RPDVL�
0LODQ� 6HQLF�� PDMRU� =XUDQ�� 6HEHN� 3UHPXUHN� �� WRYDULÊ
0RUDYD�� -XUH� 6FKPLW]EHUJHU�� 6WDQNR� 3RYK�� )DXVWLQ� 9UH�
FDU��3HWDU�*XEHULQD��$OELQ�1DUEHUJDU��0DULD�5HQDWR�� ,GR
0DUXVLF�� )UDQFHVFR� 9RON�� $QD� 6FDSSD�� %RJGDQ� 6WRND�
+XJHUR�=DQRQ��0DULMD�$OEHUW��)HUGR�.RVPDYHU��6LPR�5DM�
NRYLF�� 6DGD� 0LNDF�� 0DUWD� 3DKRU�� -DQNR� 1DQXW�� $OHV�
VDQGUR� .RYDFHYLF�� )UDQFHVFR�1HIIDW��*LXVWR�0DVVDURWWL�
9LWWRULR� 0DWNRYLF�� $QWRQ� 8NPDU�� 'LQD� 6ODWLF�� /XFLDQD
'XLPRYLF�� (PLOLR� 7URQFRQL��*LXOLR� /L]]XO�� $QJOR�$PH�
ULáDQL�VR�XJRWDYOMDOL��GD�VR� VNRUDM�YVL� -XJRVORYDQL��NL�SUL�
GHMR�Y�7UVW�LQ�GUXJD�LWDOLMDQVND�PHVWD�RQVWUDQ�0RUJDQRYH
áUWH�� VRGHODYFL�2=1(�� 7HÌNR� EL� UHNOL�� GD� MH� ELOD� YHáLQD
RVXPOMHQFHY�DJHQWRY�2=1(��VDM�MH�ELOR�YHOLNR�VXPQLáHQM
LQ�DQDOL]�SUHWLUDQLK�LQ�SRVOHGLFD�VWUDKX�SUHG�YVHP��NDU�MH
ELOR� VORYDQVNHJD�� 3ROHJ� VH]QDPRY� RVXPOMHQLK� VRGHOR�
YDQMD� ]� 2=12� VR� $QJOR�$PHULáDQL� KUDQLOL� YHOLNR� SR�
GDWNRY� R� REYHÊáHYDOQLK� ÊRODK�2=1(� �VS\� VFKRROV��� RG
QMLKRYLK� ORNDFLM� GR� XáQLK� SURJUDPRY� LQ� YVWRSQLK� VHOHN�
FLMVNLK�SRJRMHY��71$�����71$������71$������71$�����

/HWD������ MH�2=1$� L]YHGOD� VLVWHPL]DFLMR� LQ� UHRUJD�
QL]DFLMR�GHORYQLK�PHVW��NDU� MH�SRPHQLOR�QDVWDQHN�QRYLK
UHIHUDWRY��KNUDWL�VH�MH�UD]ÊLULOR�GHOR�,,��RGVHND��NL�MH�LVWHJD
OHWD�SRVWDO�RGGHOHN��7UVW�MH�RVWDO�GRPHQD�,��RGVHND�2=1(
�8'%(��� NL� MH� ÊH� QDSUHM� DNWLYQR� GHORYDOD� Y� QRYRQDVWDOL
WUÌDÊNL�NUL]L��3XáQLN�������������

6./(3

$QJOR�$PHULáDQL� VR� WDNRM� SR� YRMQL� VNUEQR� QDG]RUR�
YDOL�GHORYDQMH�YVHK�QDVSURWQLNRY�QRYH�,WDOLMH��NL�ÊH�YHGQR
QL� LPHOD� GRORáHQH� PHMH� ]� -XJRVODYLMR�� 1DWDQáQHMH� VR
DQDOL]LUDOL� RUJDQL]DFLMR�� GHMDYQRVWL�� FLOMH� LQ� YORJR� YVHK
RVXPOMHQLK� VRGHODYFHY�2=1(� Y� YVHK� YHáMLK� LWDOLMDQVNLK
PHVWLK��ÊH�SRVHEHM�SD�Y� -XOLMVNL�NUDMLQL��6WUDK�SUHG�NRPX�
QL]PRP� MLP� MH�YHOLNRNUDW�]DPHJOLO�GHMDQVNH�SUHGVWDYH�R
GHMDYQRVWL� QHNDWHULK� 6ORYHQFHY� LQ� GUXJLK-XJRVORYDQRY�
SRYH]DQLK�]�2=12�9HOLNR�DQJOR�DPHULÊNLK�SRGDWNRY� MH
WHPHOMLOR� QD� SRPDQMNOMLYL� REYHÊáHQRVWL� LQ� SUHQDJOMHQLK
DQDOL]DK�QHNDWHULK�REYHÊáHYDOQLK�SRURáLO�

*OHGH� QD� YVH� ]EUDQH� ]DYH]QLÊNH� DQDOL]H� VR� WL
XJRWDYOMDOL��GD�DNWLYQRVWL�2=1(�Y�,WDOLML�QLVR�SUHGVWDYOMDOH
YHOLNH�JURÌQMH��VDM�VR�YHáMR�QHYDUQRVW�SUHGVWDYOMDOH�QMHQH
GHMDYQRVWL�Y�-XOLMVNL�NUDMLQL���71$�����
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7KH�DUWLFOH�SUHVHQWV� WKH�$QJOR�$PHULFDQ�YLHZV�DQG� LQIRUPDWLRQ�RQ� WKH�RSHUDWLRQV�RI�2=1$� �'HSDUWPHQW� IRU� WKH
3URWHFWLRQ�RI�3HRSOH�� LQ� ,WDO\��ZKHUH�DJHQWV�KDG�EHHQ� VHQW�E\� WKH�RUJDQL]DWLRQ¢V�SUHGHFHVVRUV�DV�HDUO\�DV�������7KH
DXWKRU� DQDO\]HG� WKH� ILOHV� RI� WKH� %ULWLVK�PLQLVWU\� RI� GHIHQFH�� IRFXVLQJ� RQ� FRXQWHU�LQWHOOLJHQFH� GDWD� RI� WKH� VXSUHPH
KHDGTXDUWHUV�RI�WKH�DOOLHG�IRUFHV�

)URP� WKH� HQG� RI� WKH�ZDU� WKURXJK� ������2=1$� GHYHORSHG� DQ� HIILFLHQW� LQWHOOLJHQFH� QHWZRUN� LQ� DOO� ODUJHU� ,WDOLDQ
WRZQV�� LQ�SDUWLFXODU� LQ� WKH� UHJLRQ�RI�9HQH]LD�*LXOLD� DQG� WKH� WRZQ�RI�7ULHVWH�� ,WV�RSHUDWLRQV�ZHUH�PRVWO\� FRQFHDOHG
ZLWKLQ� QXPHURXV� RUJDQL]DWLRQV�� LQVWLWXWLRQV�� DQG� DVVRFLDWLRQV��ZKLOH� LWV�PDLQ� DLP�ZDV� WR� SUHYHQW� WKH� LQWHOOLJHQFH
JDWKHULQJ�DQG� LQWHUYHQWLRQLVW�RSHUDWLRQV�RI�<XJRVODY�GLVVLGHQWV�DQG�ZHVWHUQ� LQWHOOLJHQFH�RSHUDWLRQV� LQ� ,WDO\� WU\LQJ� WR
XQGHUPLQH� WKH� QHZ� <XJRVODY� UHJLPH�� 7KH� PDMRULW\� RI� VXVSHFWHG� DJHQWV� ZHUH� VDLG� WR� EH� SRVLQJ� DV� WUDGHUV�
HQWUHSUHQHXUV�� VWXGHQWV�� XQLRQ�ZRUNHUV�� DQG� VHFRQGDU\� VFKRRO� WHDFKHUV�� ,Q�9HQH]LD�*LXOLD� DQG� 7ULHVWH� WKH� LQWHQVH
RSHUDWLRQV�LQYROYHG�DOO�2=1$�VHFWLRQV��ZKLOH�LWV�RUJDQL]DWLRQDO�VWUXFWXUH�ZDV�WKH�HTXLYDOHQW�RI�WKDW�LQ�<XJRVODYLD�

7KH�$QJOR�$PHULFDQV�GLYLGHG�WKH�RSHUDWLRQV�RI�2=1$�LQ�,WDO\�LQWR�WKH�QRUWKHUQ��FHQWUDO��DQG�VRXWKHUQ�DUHDV��ZKHUH
PRVWO\�DJHQWV�RI� WKH� ILUVW�VHFWLRQ�ZHUH�DFWLYH��7KH� LQIRUPDWLRQ�RI� WKH�DOOLHV�ZDV� IUHTXHQWO\�EDVHG�RQ�VFDUFH�GDWD�DQG
PLVJXLGHG�SHUFHSWLRQV�RI�2=1$�RSHUDWLRQV��7KH�$QJOR�$PHULFDQ�UHSRUWV�FDPH�WR�WKH�FRQFOXVLRQ�WKDW�WKH�RSHUDWLRQV
RI�2=1$�LQ�,WDO\��ZLWK�WKH�H[FHSWLRQ�RI�WKRVH�LQ�9HQH]LD�*LXOLD��GLG�QRW�SRVH�D�WKUHDW�WR�WKHLU�LQIOXHQFH�

.H\�ZRUGV��LQWHOOLJHQFH�DQG�FRXQWHU�LQWHOOLJHQFH��2=1$��&,&��FROG�ZDU��9HQH]LD�*LXOLD

9,5,�,1�/,7(5$785$

71$� �� 7KH�1DWLRQDO� $UFKLYHV�� QHNGDQML� 3XEOLF� 5HFRUG
2IILFH��/RQGRQ�
71$�� �� �� 71$��:2� ����������� 6HFXLULW\� ,QWHOOLJHQFH
/LDLVRQ�2IILFH��QHGDWLUDQR�
71$������71$��:2������������6HFUHW�3ROLFH���2=1$�
�����������
71$���� ��71$��:2������������$FWLYLWLHV� RI�2=1$� LQ
7ULHVWH��������������
71$�� �� �� 71$��:2� �����������$)+4� /LDLVRQ�2IILFH�
�������������
71$������71$��:2������������6WURNH�RQ�WKH�1DSH��7KH
6SHFLDO�0DUN�RI�WKH�2=1$��6HSWHPEHU������
71$�� �� �� 71$�� :2� ����������� &RXQWHU� ,QWHOOLJHQFH
&RUSV��1DSOHV�'HWDFKPHQW��=RQH�9,��86�$UP\���������
�����
71$�� �� �� 71$��:2� ����������� %ULHI� RQ� WKH� <XJRVODY
,QWHOOLJHQFH�6HUYLFH���2=1$��QHGDWLUDQR�
71$�� �� �� 71$��:2� ����������� <XJRVODY� ,QWHOLJHQFH
6HUYLFHV�2SHUDWLQJ�LQ�,WDO\��QHGDWLUDQR�
71$������71$��:2������������7KH�&RPPXQLVW�%DWWOH
IRU�7ULHVWH��������������
71$�� ��� �� 71$��:2� ����������� &RXQWHU� ,QWHOOLJHQFH
&RUSV��7HUULWRULDO�2UJDQL]DWLRQ��QHGDWLUDQR�
71$����� ��71$��:2� �����������$SSHQGL[�$�� ���� ���
�����

71$�������71$��:2������������ ,QWHUURJDWLRQ�RI�0LODQ
0LKDHO��'HFHPEHU��������0DUFK������
71$�������71$��:2������������%ULHI�3UHOLPLQDU\�,QWHU�
URJDWLRQ�RI�2=1$�6XVSHFWV�������������
71$�������71$��:2������������2=1$�$JHQWV��������
�����
71$�� ��� �� 71$�� :2� ����������� 5RPH� $UHD� $OOLHG
&RPPDQG��2IILFH�RI�WKH�$&��86�$UP\��������������
71$�� ��� �� 71$��:2� ����������� .QRZQ� DQG� 6XVSHFW
$JHQWV�RI�2=1$�QRZ�EHOLHYHG�RSHUDWLQJ� LQ� ,WDO\��������
�����
71$�� ��� �� 71$��:2� ����������� &RXQWHU� ,QWHOOLJHQFH
6HUYLFHV�2SHUDWLQJ�LQ�,WDO\��QHGDWLUDQR�
71$�������71$��:2������������1RWHV�RQ�2=1$��QHGD�
WLUDQR�
71$�������71$��:2������������$FWLYLWLHV�RI�2=1$�����
��������
71$�� ��� �� 71$��:2� ����������� &RXQWHU� ,QWHOOLJHQFH
&RUSV��5RPH�'HWDFKPHQW��=RQH�9��86�$UP\��������������
%DMF��*����������2SHUDFLMD�-XOLMVND�NUDMLQD��VHYHURY]KRG�
QD�PHMD�,WDOLMH�LQ�]DYH]QLÊNH�REYHÊáHYDOQH�VOXÌEH�������
�������.RSHU��=DORÌED�$QQDOHV�
'RUQLN�ÆXEHOM��/�� ��������2GGHOHN�]D�]DÊáLWR�QDURGD�]D
6ORYHQLMR��/MXEOMDQD��$UKLY�5HSXEOLNH�6ORYHQLMH�
3XÞQLN��-���XU�����������,]�DUKLYRY�VORYHQVNH�SROLWLáQH�SR�
OLFLMH��/MXEOMDQD��9HGD�
7URKD��1�� �������� .RPX� 7UVW�� 6ORYHQFL� LQ� ,WDOLMDQL�PHG
GYHPD�GUÌDYDPD��/MXEOMDQD��0RGULMDQ�


